Soustraction de Nombres Entiers (C)

Utilisez la stratégie d’'un nombre entier pour trouver chaque question.

-42 -81 = 67 - 34 = 38--55=
-14-51= 92-93= -18-99 =
31-34= -42 -30 = -18-64 =
-72-73 = 66 - 59 = 79-75=
70-22 = 4-52= 39-35=
-57 --43 = 51--34= 23-89 =
-21--81= 80-22= -72-67 =
40 --54 = 30--4= -85--98 =
20--52= -34 -89 = 86 --48 =
-5-19= -17 --45 = 7-84=
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Soustraction de Nombres Entiers (C) Réponses

Utilisez la stratégie d’'un nombre entier pour trouver chaque question.

-42-81 =
=-123

14 -51 =

70-22 =

-57 --43 =
-14

-21--81=

40 --54 =

=94

20--52=

-5-19=
-24

67 - 34 =
=33

51--34=

80-22=

30--4=

=34

-34-89 =
=-123

-17 - -45 =

38--55=
=93

-18-99 =
=-117

23-89 =

-72-67 =

=-139

-85 - -98 =
=13

86 --48 =
=134
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